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QUESTION 1

You face a supply request exception due to some reason. You realize that youneed to make some changes to the
Manage Supply Request Exceptions page.

Which action will you perform?

A. Update the supply request and submit it. The errors will be resolved automatically.
B. The supply request can be updated using a third-partyapplication only.

C. Update the supply request and make sure errors are resolved before resubmitting it.

D. The supply request cannot be updated. The only way is to resolve the error in the source application and resubmit
the request.

Correct Answer: D

QUESTION 2

Your customer decides to implement Cloud Procurement and Inventory. While discussing with your customer,you come
to know that they have a business that spans across multiple locations and they have warehouses situated across USA
and Canada.

1.All their procurement, payables, and distribution activities take place from USA. 2.They have a central warehousein
USA and after the goods are delivered to this warehouse, they are distributed across multiple additional warehouses.
The warehouses are managed separately from the requisitioning units. 3.For requesting material they have two units.
One located in USAthat monitors the current stock. They are responsible for creating requisition for any material
shortage in USA. They have another location in Canada for requesting material.

Which setup fulfills this scenario?

A. BU1: USA - as procurement business unit(BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where Canada procurement business unit serves as
procurement and payables service provider for only Canada requisitioning Business Unit

B. BUL: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where USA procurement business unit serves as
procurement and payablesservice provider for only Canada requisitioning Business Unit

C. BU1: USA - as procurement and requisitioning Business Unit (BU) BU2: Canada - as requisitioning Business Unit
Define Service provider relationship where Canada procurement business unit serves as procurement and payables
service provider for Canada Requisitioning Business Unit

D. BU1: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where USA procurement business unit serves as

procurement and payables service provider for both Canada and USA requisitioning Business Units

Correct Answer: D

QUESTION 3
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Supply ChainFinancial Orchestration supports which three things? (Choose three.)

A. Separate physical movement from financial flow.

B. The user interface gives you the status of the orchestration transactions item serial numbers.

C. Resource transactions are interfaced directly from Manufacturing.

D. Configuration to define cost-based, document-based support for third-party transfer pricing rules.
E. Infrastructure and framework to define the financial trade and physical flows independently.

Correct Answer: ACE

QUESTION 4

Your customer wants you to restrict the values of Receivables Transaction Type for their three business units. You
createdthree reference data sets for each business unit. However, the user is still able to see the values in the
Transaction Type list of values which are not defined in the business unit data set.

What is the reason for this behavior?

A. Reference Data Sets cannot be used uniquely across business units. They can only be used at the Legal Entity
level.

B. The user is seeing the values defined in the common set. The values should be removed from the common set.
C. The user has multiple Business Unit Roles and, therefore, is able to see additional values.
D. Receivables Transaction Types are common across business units.

Correct Answer: B

QUESTION 5

Which execution document is created by supply chain orchestration when a make request is received?
A. Purchase Order

B. Routing Create

C. Work Order

D. Transfer Order

E. Movement Request

Correct Answer: C
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